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Wealth being less or more on the last day of the year for Zakah

AKJ\ d)u)‘sjceM‘}bM‘j‘mw\
QUESTION:

What do the scholars of the Din and muftis of the Sacred Law state regarding
the following issue: | became an owner of the threshold on the 25th of Rajab,
and at that time | had £10,000. | had this until the 24th of Rajab the following
year; | had £2000 remaining on the 24th of Rajab, so will Zakah be wajib on the
£10,000 or £2000. Likewise, if someone had £10,000 on the 15th of Rajab, then a
total of £12,000, so which amount will Zakah be on? Please can you shed some
light.

Questioner: Saif from England
ANSWER:
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Gl saall 5 all 21 aglll a3l S ) san sl

In the first case, Zakah will be wajib on the amount of £2000, because there is no
Zakah upon any amount which has been used before the year’s actual completion; it
is a condition for Zakah that a full [lunar] year passes.

Just as it stated in Tanwir al-Absar ma’ Durr Mukhtar that,
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“It is a condition for Zakah being Fard that a complete [lunar] year passes.”

[Tanwir al-Absar ma’ Durr Mukhtar, vol 2, pg 267]

Moreover, ‘Allamah Ibn ‘Abidin Shami states regarding this in Radd al-Muhtar,
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“It is a condition that the threshold be complete at the limit of both parts (start & end)
of the [lunar] year.”

[Durr Mukhtar ma’ Radd al-Muhtar, vol 2, pg 267]

Similarly, in the second case, such person will give Zakah on the amount of £12,000,
because if any wealth of that very same category is attained, even if only a minute
beforehand, then this wealth (which was just acquired) will also be mixed with the
previous wealth, and Zakah will be wajib on the full amount.



Just as it is stated in Bahar-e-Sharrat that if a person is the owner of the threshold
(i.e. liable for Zakah), and in the middle of the year, he acquired some of the same
type (of commodity), then the year for the new wealth is not counted as a separate
year, but the end of the year of the initial wealth (or cash, etc.) is the same year ending
for this as well, even if it was acquired a minute before the year ended.

And it does not matter whether this asset was attained by means of the same initial
commodity, or whether it was acquired by way of inheritance, or as a gift, or by way of
some other permissible means. However, if it is of a different type, for example, initially,
he had camels and now he acquired goats, then he will count a new year for that.

[Bahar-e-SharTat, vol 1, part 5, pg 884]
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Answered by Mufti Qasim Zia al-Qadri
Translated by Haider Ali



